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Q1) Evaluate the expression (9x)% +(2y)% +(z)% for x=3,y=4,2=-1

A) 16
B) 12
C) 14
D) 10

1+4£—
X=5

1———
Xx-5

Q2) Simplify the expression:

Q4) Let x=2-3i and y=1+i. Then the expression yL)l( simplified to standard form a-+bi is:

A) 4-i
B) —2-3i
C) 4+i
D) 6-5i
- . . 1 2
Q5) Perform the indicated operations and simplify ——+——:
X+5 x-3
2X+7
(x+5)(x-3)
3x-7
(X +5)(x—3)
3X+7
(x+5)(x-3)
X+7
(x+5)(x=3)

A)

B)

C)

D)

You must write the correct answer to each question in the box below

Question 1 2 3 4 5

Answer




Q6) (x/hz iy 2)( h? +4 —2) is equal to which of the following:

A) h*+2
B) [h|
C)h
D) h?

Q7) The discriminant D =b? —4ac of the equation x* =4x—4 is

A) D=0
B) D =32
C)D=8
D) D = 64

Q8) What is the solution to the inequality (x—3)(x+1)>0 ?

B) (_OOJ _3) U (3, Oo)
C) (—o0,—1) U (1,3) U (3,)
D) (—o,—1) U (3,x)

Q9) Which of the following functions is even?
A f(x)=x"+x

B) f(x)=x"+3

c) f(x)=x'-x°

D) f(x)=x°

Q10) (JE + %)2 is:
o[

You must write the correct answer to each question in the box below

Question|| 6 7 8 9 10

Answer




Q11) (6pts) Multiply and simplify the following:

a) (2—5x)3

b) (3x—-5)(3x+5)

Q12) (4pts) Solve the equation (X—=1)(x+2)=(x—2)(x—-3)

Q13) (4pts) Write the value or values of the variable that must be excluded from the solution set.
1 5 2

+ =
+3 x2-9 x-3

Then solve the equation: ”

Q14) (4pts) Find all real solutions of the equation (3x—4)2 =7

Q15) (3pts) Find the distance between the points: (3\/5, 3) and (5\/5, —3).



Q16) (4pts) Find the center and the radius of the circle x> +y* —4x+10y+13=0.

Q17) (4pts) Find the equation of the line that has x-intercept —2 and is parallel to the line
2X+3y—-5=0.

Q18) (4pts) Find all real solutions of the equation v10—3x +2 = x

Q19) (5pts) Find all solutions of the equation x° —7x®—-18x=0

Q20) (4pts) Solve the equation X *—4x?+X +6=0 given that —1 is a zero of this equation (use
synthetic division)



Q21) (5 pts) Let f(x)=+v'x—4 and g(x)=x" find the following:

a) (f+9)(5)

b) (f9)(2)

c) The domain of (f +9g)(x)

Q22) (7pts) Consider the function f (x)=2(x—1)" -8

& 1
a) Find the vertex of f(x). an ':
5 E
b) Find the x —intercepts of f(x) B !
¥ L] L] J L] | L] l’
o] -0 8] -7 6504 3] -2l ) 4 |2 3[4 I8 6 (7 8 (9 40
c) Find the y —intercept of f(x). % :
d) Determine whether f(x) has a minimum or a -:
maximum. ] ‘
.'--'II} '

e) Graph f(x).

Q23) (6pts) Consider the function f (x)=-3x*(x- 3)4 (x+ 2)3 .

a) Use the Leading Coefficient Test to determine the end behavior of the graph.

b) Find the zeros and their Multiplicities and determine whether the graph crosses or touches the x-
axis at each zero.. Do not graph the function.



